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NAME: KE\(

PHYSICS 4A
FALL 2013
EXAM 1

PARTIAL CREDIT will be given so do what you can and make sure that you show all
work for each problem. No credit will be given if no work is shown. The point value
of each question is indicated.



1. Just as you throw a package from the top of a 20 m high building with initial
speed V; at an angle of 30° with the horizontal, your friend, who is running
toward the building at speed 0.8V,, is 22 m away. (15 pts)

a) Calculate V, in order for your friend to catch the package.
b) How far from the building does your friend catch the package.
C) Calculate the speed at which the friend catches the package.

) VO
Xp = )&\* Uspay 45 Qe
- Mp; (s €330 )k

. ~ 2
N e "‘)K% 4 Uouyt *‘%Q%n‘k

\
\ (\{ °= Qs S0V L ~ 4.Q 2

\

k\

\\. ~0.3 vu
X S

22W\ — —

3 s
G Xp= Xp B

P (i( = 22 —”O?UO—t_
(Uo o301t = 22~ 0.¥ VUt '

.67Vt =2 2.
Vot (3 2

Ne=Ye M :lﬂ,q:ﬂ )
L Vet ~4q1t= 20

2

= Xor Uspest +

5 (13.2) —4att> —o

e

5

U‘:\H)K?Z+Vypl = ‘;Oﬂ)iA\

~

h) Xp—= (5.7) vs3 (2-%)




2. A hot air balloon has just lifted off from rest and is rising upward at a rate of
1.8 m/s®. Suddenly one of the passengers realizes she has left her camera on
the ground. A friend picks it up and throws it straight upward with an initial speed
of 20 m/s. The passenger is 5.0 m above her friend and moving at 2.0 m/s when
the camera is thrown. Using a reference frame fixed to the balloon at the instant

the camera is thrown. (15 pts)
a) Calculate the position of the passenger when she catches the camera.

b) Calculate the speed of the camera.
c) Calculate the displacement of the camera.
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3. Given the acceleration graph for amodel car determine the v vs tand x vs. tgraph, Assume
thatatt= 0. x = Oand v=0. (10 pts)
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4. Define the following terms without any mathematical definitions: (2 pt each)
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2. Inertial reference frame

A m&u‘rg N/ANCTTS NI 7‘}

3. Projectile /{*f\\( Gb\CL\/L LT Tn?’]lv?@/ I/\Q/(/\C(\)(\/
Me&aﬁ /{}%QDCJ% AeFermmnuf N ojmﬁﬁ/

arr e Tun ¢

4. Trajectory 6)5@% /Hf m(ﬁLﬂW} ‘FRC‘ {DN\) QDL’\/ﬁ

5. Commutative Law of Vector Addition UQ(‘[{}(& can b€ O(C/(D/{(/
M any orode -



